— P226 ( 1ER)

MXPitch  Z=ep#ll B &6 % KB

M30X<3.5

Catalog No. mXPitch M ¥H({f 1~923
Type No. | P B IP B @R [ @A) @s)| 9| B | W | X|Y |2 [scopsco|ssch [SCONN]PSCONN[SSCONN
3 3 530 | 540 | 910 | — - —
. 11015 8 Wl M3| 343 " 45| 3 | 45— a0 T = = =
(RYy ba47) |5 [*5 5X0.5 | M5X0.8 : 530 | 560 | 930 | 710 | 740 | 1,180
SCD 5 [x6] 2] 2|10 Mysxoss5 | Mex10 M4| 45375 6 | 418 [ sa0 | 60| 930 | 7e0 | 790 | 1430
PSCD 8 |*8 30 MEX0/75 | M8X1.25 9 | 510 540 | 650 | 1,190 | 720 | 830 | 1,400
SSCD 10 [*10 M10XD.75] M10X1.5 10 670 | 680 | 1,280 | 850 | 870 | 1,450
12 [*12] 40| 35 M125X1.0 [M12XX1.75 6 [125] 670 | 680 | 1,280 | 850 | 870 | 1,450
@RZ17) 553 |13 11 670 | 680 | 1,280 | — = =
SCDNN 15 | 15 B 15 790 | 850 | 1,440 | — = -
40 | 15 M6 7 [6 13 :
PSCDNN |6 [*16 MIpX1.0 | M16X2.0 13| 8 790 | 850 | 1,440 | 930 | 990 | 1,620
SSCDNN [ 20 [*20 45 MZ0X1.0 | M20X2.5 15 15 890 | 920 | 1,620 | 1,040 | 1,070 | 1,800
il sq 71 25 [*25] 0 | 50 MR5X 1.5 — 18 |, [18 | 1,040 [ 1,070 | 2,000 = — —
*EIOff 30 [*30 55 M30X115 | M30X3.5 20 — [ 1,000 [ 1,120 | 2,130 | 1,250 | 1,280 | 2,340
4 XDH 35 | 35 60 23 | 12 | — | 1,240 | 1,300 | 2430 | — - —
40 | 40] 23 | 70 | 18 - - M8| 9 |7 |20[26 |13 |— | 1,490 | 1,560 | 3,260 | — - -
50 | 50| 27 | 85| 22 Mi0[11 |9 32 |16 | — | 1,800 | 1,880 | 4490 | — - —
AN—@T7 7Y VEEREET — T TEEShTVET,
<ETEA> | mXPitch 3
S 1)) :
: M5<0.8 :
i M6><1.0 i
; M8X1.25 :
1 M10X1.5 1
; M12X1.75 :
: M16X2.0 :
: M20X2.5 j




